



BIPOLAR FUZZY W-HAUSDORFF SPACE

S. MUTHAMIZHSELVI and V. M. VIJAYALAKSHMI

Research scholar, Department of Mathematics
School of Physical and Computational Science
Avinashilingam Institute for Home
Science and Higher Education for Women
Coimbatore, 641043, India
E-mail: muthamilselvi394@gmail.com

Assistant Professor
Department of Science
and Humanities School of Engineering
Avinashilingam Institute for Home Science
and Higher Education for women
Coimbatore, 641043, India
E-mail: vmviji_sh@avinuty.ac.in

Abstract

In this paper the definition of bipolar fuzzy W-Hausdorff space is introduced by extending the definition of W-Hausdorff space introduced by Warren [4] and obtained results analogues to the results of W-Hausdorff space.

1. Introduction

In 1965, Zadeh [13] introduced the concept of fuzzy set. The notion of fuzzy topology was established by Chang [3] in 1968. In 1994, Zhang [14] introduced the notion of a bipolar fuzzy set. In 2018, Kim, et al. [8] defined bipolar fuzzy point and obtained some of its properties and introduced the concept of bipolar fuzzy topology in Changs sense [3]. In section 2 of this paper, preliminary definitions regarding fuzzy set and bipolar fuzzy set are given. In section 3 of this paper, the definition of bipolar fuzzy W-Hausdorff

2020 Mathematics Subject Classification: 03E72.

Keywords: Bipolar fuzzy set, bipolar fuzzy topology, bipolar fuzzy W-Hausdorff space.

Received October 25, 2021; Accepted November 10, 2021

space is introduced by extending the definition of W-Hausdorff space introduced by Warren [4] and obtained result analogues to the results of W-Hausdorff space.

2. Preliminary Definitions

Definition 2.1 [13]. Let X be an arbitrary non empty set. Let $I = [0, 1]$. A *fuzzy set* in X is a mapping from X into I that is a fuzzy set is an element of I^X .

Definition 2.2 [3]. Let X be a non empty set. A subset $\tau \subset I^X$ is called a fuzzy topology on X iff τ satisfies the following requirements

- (i) The constant fuzzy sets 0 and 1 belong to τ
- (ii) $f_\lambda \in \tau$ for each $\lambda \in \Lambda$ implies $\bigvee_{\lambda \in \Lambda} f_\lambda \in \tau$
- (iii) $f, g \in \tau$ implies $f \wedge g \in \tau$.

the pair (X, τ) is called a *fuzzy topological space*.

Definition 2.3 [4]. A fuzzy topological space (X, τ) is said to be fuzzy W-Hausdorff if for every $x, y \in X, x \neq y$, there exist $f, g \in \tau$ such that $f(x) = 1, g(y) = 1$ and $f \wedge g = 0$.

Definition 2.4 [8]. Let X be a non-empty set. Then a pair $A_{bp} = (A_{bp}^+, A_{bp}^-)$ is called *bipolar-valued fuzzy set or bipolar fuzzy set* in X , where $A_{bp}^+ : X \rightarrow [0, 1]$ and $A_{bp}^- : X \rightarrow [-1, 0]$.

The set of all bipolar fuzzy set in X is denoted as $BPF(X)$.

Definition 2.5 [8]. The *bipolar fuzzy null set* denoted by $0_{bp} = (0_{bp}^+, 0_{bp}^-)$ is a bipolar fuzzy set in X defined as $0_{bp}^+(x) = 0$ and $0_{bp}^-(x) = 0$, for each $x \in X$.

Definition 2.6 [8]. The *bipolar fuzzy whole set* denoted by $1_{bp} = (1_{bp}^+, 1_{bp}^-)$ is a bipolar fuzzy set in X defined as $1_{bp}^+(x) = 1$ and $1_{bp}^-(x) = -1$, for each $x \in X$.

Definition 2.7 [8]. Let X be a non-empty set and let $A_{bp} = (A_{bp}^+, A_{bp}^-)$
 $B_{bp} = (B_{bp}^+, B_{bp}^-)$ be bipolar fuzzy sets in X , Then

(i) A_{bp} is a *subset* of B_{bp} , denoted by $A_{bp} \subset B_{bp}$ is defined as
 $A_{bp}^+(x) \leq B_{bp}^+(x)$ and $A_{bp}^-(x) \geq B_{bp}^-(x)$, for each $x \in X$.

(ii) The *complement* of A_{bp} is denoted by $A_{bp}^c = ((A_{bp}^c)^+, (A_{bp}^c)^-)$ is a
 bipolar fuzzy set in X defined as $(A_{bp}^c)^+(x) = 1 - A_{bp}^+(x)$ and
 $(A_{bp}^c)^-(x) = -1 - A_{bp}^-(x)$, for each $x \in X$.

(iii) The *intersection* of A_{bp} and B_{bp} , denoted by $A_{bp} \cap B_{bp}$ is a bipolar
 fuzzy set in X defined as

$$(A_{bp} \cap B_{bp})(x) = (A_{bp}^+(x) \wedge B_{bp}^+(x), A_{bp}^-(x) \vee B_{bp}^-(x)), \text{ for each } x \in X.$$

(iv) The *union* of A_{bp} and B_{bp} , denoted by $A_{bp} \cup B_{bp}$, is a bipolar fuzzy
 set in X defined as

$$(A_{bp} \cup B_{bp})(x) = (A_{bp}^+(x) \vee B_{bp}^+(x), A_{bp}^-(x) \wedge B_{bp}^-(x)), \text{ for each } x \in X.$$

(v) The *intersection* of $((A_{bp})_\lambda)_{\lambda \in \Lambda}$, a collection of bipolar fuzzy subsets in
 X denoted by $\bigcap_{\lambda \in \Lambda} (A_{bp})_\lambda$ is a bipolar fuzzy set in X defined as

$$(\bigcap_{\lambda \in \Lambda} (A_{bp})_\lambda)(x) = (\bigwedge_{\lambda \in \Lambda} ((A_{bp})_\lambda^+)(x), \bigvee_{\lambda \in \Lambda} ((A_{bp})_\lambda^-)(x)), \text{ for each } x \in X.$$

(vi) The *union* of $((A_{bp})_\lambda)_{\lambda \in \Lambda}$, a collection of bipolar fuzzy subsets in X
 denoted by $\bigcup_{\lambda \in \Lambda} (A_{bp})_\lambda$ is a bipolar fuzzy set in X defined as

$$(\bigcup_{\lambda \in \Lambda} (A_{bp})_\lambda)(x) = (\bigvee_{\lambda \in \Lambda} ((A_{bp})_\lambda^+)(x), \bigwedge_{\lambda \in \Lambda} ((A_{bp})_\lambda^-)(x)), \text{ for each } x \in X.$$

Definition 2.8 [8]. Let X be a non-empty set and let $\mathfrak{B} \subset BPF(X)$. Then
 \mathfrak{B} is called a *bipolar fuzzy topology on X*, if it satisfies the following axioms:

(i) $0_{bp}, 1_{bp} \in \mathfrak{B}$.

- (ii) $A_{bp} \cap B_{bp} \in \mathfrak{B}$, for any $A_{bp}, B_{bp} \in \mathfrak{B}$.
- (iii) $\bigcup_{\lambda \in \Lambda} (A_{bp})_{\lambda} \in \mathfrak{B}$, for any $((A_{bp})_{\lambda})_{\lambda \in \Lambda} \subset \mathfrak{B}$.

In this case the pair (X, \mathfrak{B}) is called a bipolar fuzzy topological space and each member of \mathfrak{B} is called a bipolar fuzzy open set (BPFOS) in X .

$A_{bp} \in BPF(X)$ is said to be closed in X , if $A_{bp}^c \in \mathfrak{B}$.

The set of all bipolar fuzzy topologies on X is denoted as $BPFT(X)$.

3. Bipolar Fuzzy W-Hausdorff Space

Definition 3.1. A bipolar fuzzy topological space (X, \mathfrak{B}) is said to be *bipolar fuzzy W-Hausdorff* or *bipolar fuzzy W - T_2* , if for any two distinct points $x, y \in X$, there exists two bipolar fuzzy open sets

$A_{bp} = (A_{bp}^+, A_{bp}^-)$ and $B_{bp} = (B_{bp}^+, B_{bp}^-)$ such that

$$A_{bp}^+(x) = 1, A_{bp}^-(x) = -1, B_{bp}^+(y) = 1, B_{bp}^-(y) = -1 \quad \text{and} \quad A_{bp} \cap B_{bp} = 0_{bp}.$$

Definition 3.2. Let (X, \mathfrak{B}) be a bipolar fuzzy topological space. Let $Y \subseteq X$.

Let $A_{bp} = (A_{bp}^+, A_{bp}^-) \in \mathfrak{B}$. Define

$A_{bp}/Y = (A_{bp}^+/Y, A_{bp}^-/Y)$ such that

$$(A_{bp}^+/Y)(z) = A_{bp}^+(z) \quad \text{and} \quad (A_{bp}^-/Y)(z) = A_{bp}^-(z), \quad \text{for all } z \in Y.$$

Define $(\mathfrak{B}/Y) = \{(A_{bp}/Y) \mid A_{bp} \in \mathfrak{B}\}$

Then (\mathfrak{B}/Y) is called the *bipolar fuzzy subspace topology on Y* and $(Y, \mathfrak{B}/Y)$ is called a *bipolar fuzzy subspace of (X, \mathfrak{B})* or simply Y is called a *bipolar fuzzy subspace of X* .

Theorem 3.3. *Subspace of a bipolar fuzzy W-Hausdorff space is bipolar fuzzy W-Hausdorff.*

Proof. Let (X, \mathfrak{B}) be a bipolar fuzzy W-Hausdorff space. Let Y be a non-empty subset of X .

To prove: $(Y, \mathfrak{B}/Y)$ is a bipolar fuzzy W-Hausdorff space

Consider $y_1, y_2 \in Y$ such that $y_1 \neq y_2$. Then $y_1, y_2 \in X$, there exists two bipolar fuzzy open sets

$$U_{bp} = (U_{bp}^+, U_{bp}^-) \text{ and } V_{bp} = (V_{bp}^+, V_{bp}^-) \text{ such that}$$

$$U_{bp}^+(y_1) = 1, U_{bp}^-(y_1) = -1, V_{bp}^+(y_2) = 1, V_{bp}^-(y_2) = -1 \text{ and}$$

$$U_{bp} \cap V_{bp} = 0_{bp}. \quad \text{That is } U_{bp}^+ \wedge V_{bp}^+ = 0^+ = 0 \quad \text{and} \quad U_{bp}^- \wedge V_{bp}^- = 0^- = 0.$$

Since Y is a subset of X , $U_{bp}/Y, V_{bp}/Y \in \mathfrak{B}/Y$ where

$$U_{bp}/Y = (U_{bp}^+/Y, U_{bp}^-/Y) \text{ and } V_{bp}/Y = (V_{bp}^+/Y, V_{bp}^-/Y)$$

Therefore $(U_{bp}^+/Y)(y_1) = U_{bp}^+(y_1) = 1,$

$$(U_{bp}^-/Y)(y_1) = U_{bp}^-(y_1) = -1,$$

$$(V_{bp}^+/Y)(y_2) = V_{bp}^+(y_2) = 1,$$

$$(V_{bp}^-/Y)(y_2) = V_{bp}^-(y_2) = 1,$$

Consider

$$(U_{bp}/Y) \cap (V_{bp}/Y) = ((U_{bp}^+/Y) \wedge (V_{bp}^+/Y), (U_{bp}^-/Y) \vee (V_{bp}^-/Y))$$

$$((U_{bp}^+/Y) \wedge (V_{bp}^+/Y))(y) = (U_{bp}^+/Y)(y) \wedge (V_{bp}^+/Y)(y), \quad \text{for all } y \in Y \subseteq X$$

$$= U_{bp}^+(y) \wedge V_{bp}^+(y), \text{ for all } y \in Y \subseteq X$$

$$= (U_{bp}^+ \wedge V_{bp}^+)(y), \text{ for all } y \in Y \subseteq X$$

$$= 0_{bp}^+(y), \text{ for all } y \in Y \subseteq X$$

$$(U_{bp}^+ / Y) \wedge (V_{bp}^+ / Y) = 0^+$$

$$((U_{bp}^- / Y) \vee (V_{bp}^- / Y))(y) = (U_{bp}^- / Y)(y) \vee (V_{bp}^- / Y)(y), \quad \text{for all } y \in Y \subseteq X$$

$$= U_{bp}^-(y) \vee V_{bp}^-(y), \text{ for all } y \in Y \subseteq X$$

$$= (U_{bp}^- \vee V_{bp}^-)(y), \text{ for all } y \in Y \subseteq X$$

$$= 0_{bp}^-(y), \text{ for all } y \in Y \subseteq X$$

$$(U_{bp}^- / Y) \wedge (V_{bp}^- / Y) = 0^-$$

$$\Rightarrow (U_{bp} / Y) \cap (V_{bp} / Y) = (0^+, 0^-) = 0_{bp}$$

Therefore subspace of a bipolar fuzzy W-Hausdorff space is bipolar fuzzy W-Hausdorff.

Definition 3.4. Let $A_{bp} = (A_{bp}^+, A_{bp}^-)$ and $B_{bp} = (B_{bp}^+, B_{bp}^-)$ be two bipolar fuzzy sets in X and Y respectively. The *Cartesian product* of A_{bp} and B_{bp} is a bipolar fuzzy set in $X \times Y$ denoted as

$$A_{bp} * B_{bp} \text{ and is defined as } A_{bp} * B_{bp} = (A_{bp}^+ * B_{bp}^+, A_{bp}^- * B_{bp}^-)$$

where $(A_{bp}^+ * B_{bp}^+)(x, y) = \min \{A_{bp}^+(x), B_{bp}^+(y)\}$ and

$$(A_{bp}^- * B_{bp}^-)(x, y) = \max \{A_{bp}^-(x), B_{bp}^-(y)\} \text{ for every } (x, y) \in X \times Y.$$

Definition 3.5. Let (X, \mathfrak{B}_1) and (Y, \mathfrak{B}_2) be two bipolar fuzzy topological spaces. Then the *product topology* $\mathfrak{B}_1 \times \mathfrak{B}_2$ on $X \times Y$ is the bipolar fuzzy topology having the collection $\{A_{bp} * B_{bp} / A_{bp} \in \mathfrak{B}_1, B_{bp} \in \mathfrak{B}_2\}$ as a basis.

Theorem 3.6. *Product of two bipolar fuzzy W-Hausdorff spaces is bipolar fuzzy W-Hausdorff space.*

Proof. Let (X, \mathfrak{B}_1) and (Y, \mathfrak{B}_2) be two bipolar fuzzy W-Hausdorff spaces.

To prove: $(X \times Y, \mathfrak{B}_1 \times \mathfrak{B}_2)$ is a bipolar fuzzy W-Hausdorff space

Consider two distinct points $(x_1, y_1), (x_2, y_2) \in X \times Y$. Either $x_1 \neq x_2$ or $y_1 \neq y_2$.

Assume $x_1 \neq x_2$, therefore there exists two bipolar fuzzy open sets $A_{bp} = (A_{bp}^+, A_{bp}^-)$ and $B_{bp} = (B_{bp}^+, B_{bp}^-)$ such that

$$A_{bp}^+(x_1) = 1, A_{bp}^-(x_1) = -1, B_{bp}^+(x_2) = 1, B_{bp}^-(x_2) = -1 \text{ and}$$

$$A_{bp} \cap B_{bp} = 0_{bp} \text{ where } 0_{bp} \text{ is a bipolar fuzzy null set in } X.$$

$$A_{bp} * 1_{bp} \in \mathfrak{B}_1 \times \mathfrak{B}_2, \text{ since } A_{bp} \in \mathfrak{B}_1, 1_{bp} \in \mathfrak{B}_2 \text{ and}$$

$$B_{bp} * 1_{bp} \in \mathfrak{B}_1 \times \mathfrak{B}_2, \text{ since } B_{bp} \in \mathfrak{B}_1, 1_{bp} \in \mathfrak{B}_2, \text{ where}$$

$$A_{bp} * 1_{bp} = (A_{bp}^+ * 1_{bp}^+, A_{bp}^- * 1_{bp}^-) \text{ and}$$

$$B_{bp} * 1_{bp} = (B_{bp}^+ * 1_{bp}^+, B_{bp}^- * 1_{bp}^-)$$

Consider

$$\begin{aligned} (A_{bp}^+ * 1_{bp}^+)(x_1, y_1) &= \min \{A_{bp}^+(x_1), 1_{bp}^+(y_1)\} \\ &= \min\{1, 1\} \\ &= 1 \end{aligned}$$

$$\begin{aligned} (A_{bp}^- * 1_{bp}^-)(x_1, y_1) &= \min \{A_{bp}^-(x_1), 1_{bp}^-(y_1)\} \\ &= \min\{-1, -1\} \\ &= -1 \end{aligned}$$

$$\begin{aligned} (B_{bp}^+ * 1_{bp}^+)(x_2, y_2) &= \min \{B_{bp}^+(x_2), 1_{bp}^+(y_2)\} \\ &= \min\{1, 1\} \\ &= 1 \end{aligned}$$

$$\begin{aligned}
(B_{bp}^- * 1_{bp}^-)(x_2, y_2) &= \min \{B_{bp}^-(x_2), 1_{bp}^-(y_2)\} \\
&= \min\{-1, -1\} \\
&= -1
\end{aligned}$$

Also

$$A_{bp} \cap B_{bp} = 0_{bp}$$

$$\Rightarrow (A_{bp}^+ \wedge B_{bp}^+, A_{bp}^- \vee B_{bp}^-) = 0_{bp}$$

$$\Rightarrow (A_{bp}^+ \wedge B_{bp}^+)(x) = 0^+(x) \text{ and } (A_{bp}^- \vee B_{bp}^-)(x) = 0^-(x) \text{ for all } x \in X$$

$$\Rightarrow A_{bp}^+(x) \wedge B_{bp}^+(x) = 0^+(x) \quad \text{and} \quad A_{bp}^-(x) \vee B_{bp}^-(x) = 0^-(x) \quad \text{for all } x \in X$$

$$\Rightarrow \text{either } A_{bp}^+(x) = 0^+(x) \text{ or } B_{bp}^+(x) = 0^+(x) \text{ and either } A_{bp}^-(x) = 0^-(x) \text{ or } B_{bp}^-(x) = 0^-(x) \text{ for all } x \in X$$

$$\Rightarrow \text{for a bipolar fuzzy whole set } 1_{bp} \text{ in } Y \text{ either } A_{bp}^+(x) \wedge 1_{bp}^+(y) = 0 \text{ or } B_{bp}^+(x) \vee 1_{bp}^+(y) = 0 \text{ and either}$$

$$A_{bp}^-(x) \vee 1_{bp}^-(y) = 0 \text{ or } B_{bp}^-(x) \vee 1_{bp}^-(y) = 0, \text{ for all } x \in X \text{ and } y \in Y$$

$$\Rightarrow \text{either } (A_{bp}^+ * 1_{bp}^+)(x, y) = 0 \text{ or } (B_{bp}^+ * 1_{bp}^+)(x, y) = 0 \text{ and either}$$

$$(A_{bp}^- * 1_{bp}^-)(x, y) = 0 \text{ or } (B_{bp}^- * 1_{bp}^-)(x, y) = 0, \text{ for all } (x, y) \in X \times Y$$

$$\Rightarrow (A_{bp}^+ * 1_{bp}^+) \wedge (B_{bp}^+ * 1_{bp}^+)(x, y) = 0 \text{ and}$$

$$(A_{bp}^- * 1_{bp}^-) \wedge (B_{bp}^- * 1_{bp}^-)(x, y) = 0 \text{ for all } (x, y) \in X \times Y$$

$$\Rightarrow (A_{bp} * 1_{bp}) \cap (B_{bp} * 1_{bp}) = 0_{bp}$$

Therefore product of two bipolar fuzzy W-Hausdorff spaces is bipolar fuzzy W-Hausdorff space.

Definition 3.7. Let $\{(X_\lambda, \mathfrak{B}_\lambda) \mid \lambda \in \Lambda\}$ be a family of bipolar fuzzy

topological spaces and $X = \prod_{\lambda \in \Lambda} X_\lambda$. Let $\{(A_{bp})_\lambda = ((A_{bp})_\lambda^+, (A_{bp})_\lambda^-) \mid \lambda \in \Lambda\}$ and $(A_{bp})_\lambda$ is a bipolar fuzzy set in X_λ . Then their product $\prod_{\lambda \in \Lambda} (A_{bp})_\lambda$ is a bipolar fuzzy set in $\prod_{\lambda \in \Lambda} X_\lambda$ defined as

$$\prod_{\lambda \in \Lambda} (A_{bp})_\lambda = (\prod_{\lambda \in \Lambda} (A_{bp})_\lambda^+, \prod_{\lambda \in \Lambda} (A_{bp})_\lambda^-) \text{ where}$$

$$\prod_{\lambda \in \Lambda} (A_{bp})_\lambda^+(x_\lambda) = \min \{(A_{bp})_\lambda^+(x_\lambda)\}, \text{ for all } x \in \prod x_\lambda \in X$$

$$\prod_{\lambda \in \Lambda} (A_{bp})_\lambda^-(x_\lambda) = \max \{(A_{bp})_\lambda^-(x_\lambda)\}, \text{ for all } x \in \prod x_\lambda \in X$$

The product topology on X is the one with basic bipolar fuzzy open sets of the form $\prod_{\lambda \in \Lambda} (A_{bp})_\lambda$ where $(A_{bp})_\lambda \in \mathfrak{B}_\lambda$ and $(A_{bp})_\lambda = 1_{bp}$ except for finitely many λ 's.

Theorem 3.8. *Arbitrary product of bipolar fuzzy W-Hausdorff spaces is bipolar fuzzy W-Hausdorff space.*

Proof. Let $\{(X_\lambda, \mathfrak{B}_\lambda) \mid \lambda \in \Lambda\}$ be a collection of bipolar fuzzy W-Hausdorff spaces

$$\text{Let } X = \prod_{\lambda \in \Lambda} X_\lambda.$$

$$\text{Consider two distinct points } (x_\lambda)_{\lambda \in \Lambda}, (y_\lambda)_{\lambda \in \Lambda} \in \prod_{\lambda \in \Lambda} X_\lambda.$$

Assume $x_\mu \neq y_\mu$ for some $\mu \in \Lambda$. Therefore there exists two bipolar fuzzy open sets,

$(A_{bp})_\mu = ((A_{bp})_\mu^+, (A_{bp})_\mu^-)$ and $(B_{bp})_\mu = ((B_{bp})_\mu^+, (B_{bp})_\mu^-) \in \mathfrak{B}_\mu$ such that $(A_{bp})_\mu^+(x_\mu) = 1, (A_{bp})_\mu^-(x_\mu) = -1, (B_{bp})_\mu^+(y_\mu) = 1, (B_{bp})_\mu^-(y_\mu) = -1$ and $(A_{bp})_\mu \cap (B_{bp})_\mu = (0_{bp})_\mu$

$$\text{Let } A_{bp} = \prod_{\lambda \in \Lambda} (A_{bp})_\lambda, \text{ where } (A_{bp})_\lambda = (1_{bp})_\lambda \text{ for } \lambda \neq \mu \text{ and}$$

$$B_{bp} = \prod_{\lambda \in \Lambda} (B_{bp})_\lambda, \text{ where } (B_{bp})_\lambda = (1_{bp})_\lambda \text{ for } \lambda \neq \mu.$$

Then $A_{bp}, B_{bp} \in \prod_{\lambda \in \Lambda} \mathfrak{B}_\lambda$

$$A_{bp} = \prod_{\lambda \in \Lambda} (A_{bp})_\lambda = \left(\prod_{\lambda \in \Lambda} (A_{bp})_{\lambda^+}, \prod_{\lambda \in \Lambda} (A_{bp})_{\lambda^-} \right) \text{ and}$$

$$B_{bp} = \prod_{\lambda \in \Lambda} (B_{bp})_\lambda = \left(\prod_{\lambda \in \Lambda} (B_{bp})_{\lambda^+}, \prod_{\lambda \in \Lambda} (B_{bp})_{\lambda^-} \right)$$

$$\prod_{\lambda \in \Lambda} (A_{bp})_{\lambda^+}(x_\lambda) = \min \{ (A_{bp})_{\lambda^+}(x_\lambda) \}, \text{ for all } \lambda \in \Lambda$$

$$= (A_{bp})_{\mu^+}(x_\mu), \text{ for some } \mu \in \Lambda$$

$$= 1$$

$$\prod_{\lambda \in \Lambda} (A_{bp})_{\lambda^-}(x_\lambda) = \max \{ (A_{bp})_{\lambda^-}(x_\lambda) \}, \text{ for all } \lambda \in \Lambda$$

$$= (A_{bp})_{\mu^-}(x_\mu), \text{ for some } \mu \in \Lambda$$

$$= -1$$

$$\prod_{\lambda \in \Lambda} (B_{bp})_{\lambda^+}(x_\lambda) = \min \{ (B_{bp})_{\lambda^+}(x_\lambda) \}, \text{ for all } \lambda \in \Lambda$$

$$= (B_{bp})_{\mu^+}(x_\mu), \text{ for some } \mu \in \Lambda$$

$$= 1$$

$$\prod_{\lambda \in \Lambda} (B_{bp})_{\lambda^-}(x_\lambda) = \max \{ (B_{bp})_{\lambda^-}(x_\lambda) \}, \text{ for all } \lambda \in \Lambda$$

$$= (B_{bp})_{\mu^-}(x_\mu), \text{ for some } \mu \in \Lambda$$

$$= -1$$

$$\text{Consider } A_{bp} \cap B_{bp} = \prod_{\lambda \in \Lambda} (A_{bp})_\lambda \cap \prod_{\lambda \in \Lambda} (B_{bp})_\lambda$$

$$= \left(\prod_{\lambda \in \Lambda} (A_{bp})_{\lambda^+}, \prod_{\lambda \in \Lambda} (A_{bp})_{\lambda^-} \right) \cap \left(\prod_{\lambda \in \Lambda} (B_{bp})_{\lambda^+}, \prod_{\lambda \in \Lambda} (B_{bp})_{\lambda^-} \right)$$

$$= \left(\prod_{\lambda \in \Lambda} (A_{bp})_{\lambda^+} \wedge \prod_{\lambda \in \Lambda} (B_{bp})_{\lambda^+}, \prod_{\lambda \in \Lambda} (A_{bp})_{\lambda^-} \vee \prod_{\lambda \in \Lambda} (B_{bp})_{\lambda^-} \right)$$

Then

$$\begin{aligned}
 & (\prod_{\lambda \in \Lambda} (A_{bp})_{\lambda}^+ \wedge \prod_{\lambda \in \Lambda} (B_{bp})_{\lambda}^+)(x_{\lambda}) \\
 &= (\prod_{\lambda \in \Lambda} (A_{bp})_{\lambda}^+(x_{\lambda})) \wedge (\prod_{\lambda \in \Lambda} (B_{bp})_{\lambda}^+(x_{\lambda})), \text{ for all } \lambda \in \Lambda \\
 &= (\min \{(A_{bp})_{\lambda}^+(x_{\lambda})\}) \wedge (\min \{(B_{bp})_{\lambda}^+(x_{\lambda})\}), \text{ for all } \lambda \in \Lambda \\
 &= (A_{bp})_{\mu}^+(x_{\mu}) \wedge (B_{bp})_{\mu}^+(x_{\mu}) \\
 &= ((A_{bp})_{\mu}^+ \wedge (B_{bp})_{\mu}^+)(x_{\mu}) \\
 &= (0_{bp}^+)_{\mu}(x_{\mu}) \\
 &= (0_{bp}^+)_{\lambda}(x_{\lambda})
 \end{aligned}$$

Therefore $(\prod_{\lambda \in \Lambda} (A_{bp})_{\lambda}^+ \wedge \prod_{\lambda \in \Lambda} (B_{bp})_{\lambda}^+) = (0_{bp}^+)_{\lambda} = 0^+$

$$\begin{aligned}
 & (\prod_{\lambda \in \Lambda} (A_{bp})_{\lambda}^- \wedge \prod_{\lambda \in \Lambda} (B_{bp})_{\lambda}^-)(y_{\lambda}) \\
 &= (\prod_{\lambda \in \Lambda} (A_{bp})_{\lambda}^-(y_{\lambda})) \vee (\prod_{\lambda \in \Lambda} (B_{bp})_{\lambda}^-(y_{\lambda})), \text{ for all } \lambda \in \Lambda \\
 &= (\min \{(A_{bp})_{\lambda}^-(y_{\lambda})\}) \vee (\min \{(B_{bp})_{\lambda}^-(y_{\lambda})\}), \text{ for all } \lambda \in \Lambda \\
 &= (A_{bp})_{\mu}^-(y_{\mu}) \vee (B_{bp})_{\mu}^-(y_{\mu}) \\
 &= ((A_{bp})_{\mu}^- \vee (B_{bp})_{\mu}^-)(y_{\mu}) \\
 &= (0_{bp}^-)_{\mu}(y_{\mu}) \\
 &= (0_{bp}^-)_{\lambda}(y_{\lambda})
 \end{aligned}$$

Therefore $(\prod_{\lambda \in \Lambda} (A_{bp})_{\lambda}^- \vee \prod_{\lambda \in \Lambda} (B_{bp})_{\lambda}^-) = (0_{bp}^-)_{\lambda} = 0^-$

$$A_{bp} \cap B_{bp} = (0^+, 0^-) = 0_{bp}$$

Therefore arbitrary product of bipolar fuzzy W-Hausdorff spaces is a bipolar fuzzy W-Hausdorff space.

4. Conclusion

In this paper, the concept of bipolar fuzzy W-Hausdorff space is introduced and some basic properties are proved.

References

- [1] M. Akra, Bipolar fuzzy graphs, *Inform Sci.* 181 (2011), 5548-5564.
- [2] A. Azhagappan and M. Kamaraj, Notes on bipolar-valued fuzzy RW-closed and bipolar-valued fuzzy RW-open sets in bipolar valued topological spaces, *Int. J. Math. Arch* 7 (2016), 30-36.
- [3] C. L. Chang, Fuzzy topological spaces, *J. Math. Anal. Appl.* 24 (1968), 182-190.
- [4] T. E. Gantner, R. C. Steinlage and R. H. Warren, Compactness in fuzzy Topological Spaces, *J. Math. Anal. Appl.* 62 (1978), 547-562.
- [5] K. C. Chattopadhyay, R. N. Hazra and S. K. Samanta, Gradation of openness: Fuzzy topology, *Fuzzy sets Syst.* 49 (1992), 237-242.
- [6] B. Hutton, Normality in fuzzy topological spaces, *J. Math. Anal. Appl.* 50 (1975), 74-79.
- [7] Y. B. Jun and C. H. Park, Filters of BCH-algebras based on bipolar-valued fuzzy sets, *Int. Math. Forum* 4 (2009), 631-643.
- [8] J. Kim, S. K. Samanta, P. K. Lim, J. G. Lee and K. Hur, Bipolar fuzzy topological Spaces., *Ann. Fuzzy Math. Inform* 17 (2019), 205-229.
- [9] K. M. Lee, Comparison of Interval-valued fuzzy sets, Intuitionistic fuzzy sets and bipolar-valued fuzzy sets, *J. Fuzzy Logic. Intell. Syst.* 14 (2004), 125-129.
- [10] J. G. Lee and K. Hur, Bipolar fuzzy relation, *Mathematics* 7(11) (2019), 1044.
- [11] R. Lowen, Fuzzy topological spaces and fuzzy compactness, *J. Math. Anal.* 56 (1976), 621-633.
- [12] T. K. Mondal and S. K. Samanta, Topology of interval-valued fuzzy sets, *Indian J. Pure Appl. Math.* 30 (1999), 23-38.
- [13] L. A. Zadeh, Fuzzy sets, *Information and Control* 8 (1965), 338-353.
- [14] W-R. Zhang, Bipolar fuzzy sets, *Proc. of IEEE* (1998), 835-840.
- [15] W-R. Zhang, Bipolar fuzzy sets and relations: a computational framework for cognitive modeling and multiagent decision analysis, *Proc. of IEEE conference* (1994), 305-309.